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LI H B X 2,328| 2,588 4916, 2,321
o A A - — A A .

BmE 1 1 2 3 2| &M@ 1 87 86 173 10
BHE 2 15 18 33 17| &@E 2 24 217 51 30
HE 3 0 0 0 O|R®@E 3 61 62 123 48
BEE 4 0 2 2 T|XxuE 1 46 34 80 39
BH 5 0 1 1 1| X% 2 40 59 99 55
BH 6 0 2 2 1| X% 3 83 62 145 63
@ 7 8 8 16 S| X5 4 15 95 170 75
BH 8 46 42 88 46 | X4 5 0 0 0 0
BE 9 28 24 52 22| X1 6 85 101 186 13
HE 10 21 18 39 15 | sk 1 0 1 1 1
HE 11 131 142 273 117 |k 2 1 6 13 1
| 1 1 4 5 3|#Hx 3 4 2 6 3
| 2 1 2 3 2| 4 3 1 4 4
Jim 3 1 1 2 1] 5 3 3 6 2
| 4 0 0 0 O E ) 2 2 4 3
Nim 5 4 3 1 3| &% 1 15 17 32 15
Nim 6 2 2 4 2| &% 2 21 21 42 18
N 7 9 4 9 o|&%E 3 21 43 64 35
Nim 8 32 64 96 65 | k% 4 11 16 2] 17
Nim 9 24 37 61 46 | #% 5 28 35 63 30
JNim 10 23 32 99 32 |dE 1 13 12 25 14
J\iE 1 10 10 20 10| deie 2 0 0 0 0
i 2 12 11 23 10| deE 3 4 2 6 2
J\iE 3 23 18 41 16 |t 4 9 9 18 10
\iE 4 20 18 38 19]dE 5 3 2 ) 3
J\iE 5 12 15 27 16 |dLE 6 0 0 0 0
J\iE 6 16 23 39 1714t 7 36 35 A 38
i 7 18 2] 45 22 |4 8 48 94 102 46
RIG—TH1 28 23 91 21 | dtE&E 9 43 92 95 98
RIB—TH?2 38 33 n 29 | iR 1 5 4 9 2
RIGEZTH1 48 46 94 33 | IR 2 ) 9 14 7
RIGZTH?2 63 18 141 /1| #R 3 38 39 11 46
RIKE_THS3 152 159 311 121 | #iR_ 4 30 33 63 25
RIG_TH4 24 35 99 39 | 4R 5 0 0 0 0
RB=TH1 41 38 19 43 | R 7 4 2 6 2
RIB=TH?2 45 49 94 48 | R 6 119 128 247 104
RIGMETA 1 94 67 121 O [ 104 111 215 97
RIGETH 2 67 12 139 60 | RSO 2 60 130 190 132
RIGETH 3 40 37 11 27 |Ba 3 18 64 142 99
o 4 47 47 94 39
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4= A D -+ L= * D -
ITHRE4 5 = = HHESE | THRE4A 5 = = HHE
fintd 1 30 43 73 28| @R 1 0 0 0 0
kg 2 42 55 97 42 | BDE 2 1 2 3 1
fntE 3 44 53 97 9|BEDE 3 5 7 12 6
g 4 26 30 56 20| BDE 4 0 0 0 0
g 5 56 57 113 A5 | BDE 5 0 0 0 0
ftE 6 27 29 56 20| BDE 6 0 0 0 0
kg 7 32 32 64 27 | BDE 7 3 1 4 3
fintd 8 13 10 23 8| BEDE 8 1 0 1 1
fiE 9 66 80 146 55 |BNDE 9 45 41 86 33
it 10 53 57 110 38| BDE 10 32 30 62 27
fintd 11 50 54 104 44 | BDE 11 58 60 118 50
fotE 12 54 57 111 3| BEDE 12 31 26 57 25
fintd 13 32 34 66 29 | BDE 13 33 34 67 28
fintd 14 62 62 124 48 | BDE 14 25 25 50 17
finitd 15 92 97 189 84 | BMDE 15 32 31 63 24
finigk 16 122 117 239 100 | HDE 16 30 30 60 21
finig 17 56 51 107 45 | BniE 17 41 32 73 34
finig 18 76 71 147 60 | Xilg 1 55 51 106 42
findg 19 64 46 110 MIXKE 2 64 61 125 45
finig 20 33 41 74 34| XKiE 8 33 38 71 27
finig 21 11 15 26 19| K& 4 20 28 48 21
X 5 6 9 15 6
X 6 31 49 80 38
Xid 7 15 12 27 10
X 8 24 21 45 20
Xi# 9 10 14 24 12
XKii 10 21 16 37 16
XKii 11 35 33 68 23
Kid 12 5 8 13 4
XKid 13 27 12 39 15
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THRE4 ) = = HEH | TEREA ) = z HHFE
HiE 1 20 11 31 141E 1 0 1 1 1
HiE 2 15 14 29 141 2 0 0 0 0
e 3 6 7 13 8|+t 3 28 31 59 27
e 4 24 22 46 201t 4 5 9 14 6
#E 5 54 61 115 5[|L 5 40 28 68 26
#E 6 27 28 55 9|L 6 12 18 30 11
e 7 78 17 155 Ml 7 38 39 77 33
HiE 1 0 0 0 0|t 8 36 52 88 44
WE 2 33 38 71 36 |HFEAE1 76 71 147 58
WE 3 2 2 4 2 |HFEHE2 31 41 712 26
WE 4 0 0 0 0 |HFEAES 62 55 117 45
WE 5 0 0 0 0 |HFEAHrE4S 47 38 85 34
HF 1 0 0 0 0 |&HFEAEDS 20 12 32 13
H 2 4 4 8 4 |HFHEG6 20 23 43 20
H 4 0 0 0 Oj&K 1 28 31 59 24
# 5 0 0 0 O|l&K 2 13 13 26 10
#F 6 0 0 0 Oj&K 3 76 79 155 67
Bk 4 47 49 96 39
gk 5 85 76 161 66
HFOK 1 36 43 79 34
BHFDOK 2 62 42 104 37
HFOKR 3 18 23 41 18
HFDOA 4 9 8 17 9
HFOAK 5 25 20 45 17
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ARES g *,k':' | s | ARES *#” =
XKiR 1 23 21 44 19 | KiR 14 12 27 39 28
KR 2 19 26 45 15 | KiR 15 53 59 112 43
KR 3 9 4 13 71| 8B 55 11 66 66
XKiR 4 93 101 194 81
XiR 5 84 81 165 60
KR 6 131 141 272 101
KR 7 22 23 45 21
KR 8 80 76 156 57
KR 9 25 31 56 22
XiR 10 30 26 56 22
KR 11 45 55 100 32
KR 12 117 113 230 79
XKiR 13 81 73 154 54
C-) T = HHE
Hi
SRR 1,461 1,551 3,012 1,210
MRS —g S| s | AREA S|
FTEBE 1 43 38 81 311 Ak 1 26 27 53 20
FTEBE 2 12 15 27 8|1 Ak 2 9 6 15 6
LTE/E 3 14 18 32 14| Al 3 64 74 138 56
TEBE 4 50 57 107 40] Ak 4 54 62 116 49
LTERE 5 38 41 79 34| A 5 86 98 184 69
REME 1 28 23 51 20| 7l 6 8 6 14 6
HEMEE 2 25 22 47 17| Al 7 43 46 89 49
HEME 3 52 52 104 43 | =i 1 59 57 116 43
HEMEE 4 75 83 158 1w 2 54 56 110 43
HEMIE b 72 64 136 46 | =l S 45 51 96 35
HEME 6 89 85 174 60 | =l 4 18 19 37 15
VTR 1 17 24 41 16 | =Nl 5 38 39 77 24
INFHR 2 11 18 29 14| %INl 6 36 39 75 31
INTFHK 3 27 31 58 23 | =i 7 28 22 50 15
INTFHK 4 34 44 78 28 | =)l 8 15 11 26 9
By 1 35 39 74 31Nl 9 17 28 45 21
B 2 29 33 62 22 | 5w 10 10 12 22 7
Bl 3 61 68 129 75
Bl 4 49 44 93 35
Bl 5 71 75 146 59
Bl 6 19 24 43 19




